H & 0l & AHS B Ml A

ME R
SIPIERN RS
=D|=dg+=1 X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S F 79,998,569 80,209,405 210,836
= 68,476,666
[ 2,068,371
AltI 6,315,816
-l 3,147,716
=D ZdE2E 62,264,028 62,635,857 A371,829
= 55,369,664
[ 57,546
AlH] 4,701,716
Tl 2,135,102
=D |zdg+s5A X 45,882,457 46,224,286 A341,829
= 40,975,000
= 57,546
AlHI 3,201,631
-l 1,648,280
A=A 45,147,777 45,147,777 0
= 40,633,000
AlHI 3,160,344
Tl 1,354,433
301 LEtE N = 45,147,777 45,147,777 0
= 40,633,000
AlH] 3,160,344
Tl 1,354,433
01 ARIE2EHSFS(RRNEERTHE) 45,147,777 45,147,777 0
oLtk MASN
45,147,777 ,000& 45,147,777
= 40,633,000
Alt] 3,160,344
Tl 1,354,433
ME=g= 51,207 36,543 15,664
308 AHXIEMSOIE 51,207 36,543 15,664
08 W20t etEx 51,207 35,543 15,664
Ouss: 51,207,000& 51,207
SHAE NSO 370,000 370,000 0
= 333,000
AlHI 25,900
Tl 11,100
301 EtE N = 370,000 370,000 0
= 333,000
AlH] 25,900
Tl 11,100
01 A2 HSFS(RNEERTHE) 370,000 370,000 0
O FaESPNI=10 370,000,000& 370,000




SN MERID
Mo 2OD|EMBEY
ohel: RODIZMELIT XL (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 333,000
AltI 25,900
-l 11,100
A RSO (AIE) 10,000 10,000 0
= 9,000
AltI 1,000
301 EtE NS 10,000 10,000 0
= 9,000
Altl 1,000
01 Al EE A ZS(2REXMR) 10,000 10,000 0
OSHME RSO (AIE) 10,000,000 10,000
= 9,000
Alt] 1,000
SA2elZLAH 40,316 41,240 NG24
201 et 3| 39,956 39,956 0
01 At22t2l] 3,164 3,164 0
OAtell S4i9 EXj2te] A2 35
270,000 270
O=XHE 88 - s M &
1,800,000 1,800
OfIEe 258 S MH 94,0002 %
OJz=dg==git QHUHE M
50 %10,000&*22 1,000
2 352484l 36,792 36,792 0
OSHYLEE S AIS
33,000 =201~ 128 792
OS2 & SAA & 8
3,000,000 ~12& 36,000
203 =4l 360 360
03 A=A 2= 360 360
OsX2tel g2 400,000 *90% 360
QS SO Z2IAHIIRZEM) I 92,257 98,826 26,569
= 57,546
Altl 14,387
Tl 20,324
101 e124d| 92,257 98,826 26,569
= 57,546
AltI 14,387
-l 20,324
04 JIZtN2Z2XNSE+ 92,257 98,826 26,569
O2izz 02|t el2AHI(2H) 92,257
123, Altelsg, 28R S
34,705,000 2 69,410
s 55,528




SH: MEBT
M 20| ZNEEE
= BRI R PUDN L (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 13,882
Scl=4dl 22,847
SR ESI]
2,304, 7003 x2& +22] 5% 4,610
&g 2,304, 7002 x2E *43| x40% 7,376
—eRRE LY
116,900 x2& 10! 2,338
=AM 125,000& x2&~ 123 3,000
- &SH| 125,000 =2 * 122 3,000
-ENAES 210,250« 1H* 1238 2,523
= 2,018
Alt] 505
Hzdl S=Hl A 170,900 170,900
201 fer=3| 13,000 13,000
01 AtR2tc|Hl 13,000 13,000
Ooozd ==4| XM 29
13,000,000 13,000
301 EtE NS 157,900 157,900
02 A2 EH 2GS (FHAAHS, XNLWE) 157,900 157,900
oozd ==4| XN& 157,900,000 157,900
AS2AAHE XNEH 387,500 417,500 30,000
AlHI 380,500
-l 7,000
NASFE SEXE 336,500 336,500 0
AlHI 336,500
301 EtE NS 336,500 336,500 0
AlHI 336,500
02 ARSI 2E AT S(FIANS, XLETHE) 336,500 271,500 65,000
OXHmSH|l XI& 271,500,000 271,500
Alt] 271,500
Oz sUzdl X3 65,000,000 65,000
Albl 65,000
SO0 AHZAF Xel 7,000 7,000
201 ZBt=3hl 4,000 4,000
01 AtR2te|HI 4,000 4,000
OFADAIZI FHX| CHel
800,000 ~5H 4,000
308 XtXIEMSO0IE 3,000 3,000
13 SIS0t 34 A A A 3,000 3,000
OR¢1 AldlXel 31 3,000,000& 3,000
SENIA & NASE SE&d A& 44,000 44,000 0
AltI 44,000
201 2= 44,000 44,000 0




SN MESI
Mo 2OD|EMBEY
e XeRAS N (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 44,000
01 AtR2t2|HI 44,000 44,000 0
ORI & MASE 32&d X
44,000,000 44,000
Albl 44,000
FHAAHS =AHNE 15,994,071 15,994,071 0
= 14,394,664
AlHI 1,119,585
Tl 479,822
FHE0 15,994,071 15,994,071 0
= 14,394,664
Al 1,119,585
Tl 479,822
301 EtE NS 14,331,743 14,331,743 0
= 12,898,569
Altl 1,008,222
Tl 429,952
01 Al 2E A S(EREXME) 14,331,743 14,331,743 0
O=FH=s0 14,331,743,000& 14,331,743
= 12,898,569
AltI 1,003,222
-l 429,952
403 AXIEHHSAH=201H 1,662,328 1,662,328 0
= 1,496,095
AltI 116,363
-l 49,870
02 SVI2S0 U H=E S AL 1,662,328 1,662,328 0
(OESuEIN =10 1,662,328,000& 1,662,328
= 1,496,095
AltI 116,363
-l 49,870
=0 25 & XA 231,000 231,000 0
= 207,900
AlHI 23,100
=0 AIE2Y Hat 231,000 231,000 0
= 207,900
Al 23,100
C=0IAE dAHI X2 231,000 231,000 0
= 207,900
AlH] 23,100
301 EetE NS 231,000 231,000 0
= 207,900
AlHI 23,100




A S
Hy: L0l 595 9 X
e =01 AIE2Y 23 (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 Al B& XS Z2(2REETA) 231,000 231,000 0
C=0lAld MYl X2
231,000,000& 231,000
= 207,900
AlHI 23,100
HASE NEgr &4 17,261,094 17,095,075 166,019
= 12,899,102
= 1,897,127
Altl 1,565,076
sl 899,789
AL =& 12,273,015 12,273,015 0
= 10,792,409
iy 44,068
Altl 1,005,680
4| 430,858
NEZ22 11,405,935 11,405,935 0
= 10,265,342
Altl 798,415
=l 342,178
201 B2 AY| 30,000 20,000 10,000
= 27,000
Altl 2,100
sl 900
01 AtR2telt] 30,000 20,000 10,000
OXtet2=z Atg| 30,000,000& 30,000
= 27,000
Albl 2,100
-4l 900
301 LPENSZ 11,375,935 11,385,935 210,000
= 10,238,342
Al 796,315
-4l 341,278
01 A BEXHZ2(2REETA) 11,375,935 11,385,935 A 10,000
Ooxraz=2 11,375,935,000& 11,375,935
= 10,238,342
AlHI 796,315
-4l 341,278
XNEX M 29 753,492 753,492 0
= 527,067
Albl 158,119
-4l 68,306
203 AR F=&lh| 540 540
03 A FRIHRFAIY| 540 540




FAN SE2F0
M HASE TR TH
et XA =8 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXATZHE 22%Z
600,000 *90% 540
307 gl2to| & 752,952 752,952 0
= 527,067
AlH] 158,119
T4l 67,766
05 21t =S 752,952 752,952 0
OXNEAtgdy 29 X3
752,952,000 752,952
= 527,067
Alt] 158,119
Tl 67,766
A2 At 2l 62,954 62,954 0
= 44,068
Albl 13,222
Tl 5,664
307 elztol & 62,954 62,954 0
= 44,068
Albl 13,222
Tl 5,664
05 2ItRIE = 62,954 62,954 0
OXtEAtell2tel 62,954,000 62,954
s 44,068
AltI 13,222
Tl 5,664
NERELE M= 50,634 50,634 0
Albl 35,924
Tl 14,710
307 elztol & 50,634 50,634 0
AlHI 35,924
Tl 14,710
05 2I2HRIE S 50,634 50,634 0
OXISTEHE X=X 4g
50,634,000 50,634
AlHI 36,924
-l 14,710
ARIMHIA - THAE S XA 4,988,079 4,822,060 166,019
= 2,106,693
[ 1,853,059
AlHI 559,39%
Tl 468,931
IR E S EAMHIA ALY 420,259 420,259 0
= 294,181
Al 63,039




SN MBI
M NASE NEJIE ¢
St AlRIAEIA - T A I (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 63,039
307 gl2tol & 420,259 420,259 0
[ 294,181
AlHI 63,039
Tl 63,039
05 212t =S 420,259 420,259 0
OIARIE S EAMEIA ALY
420,259,000 420,259
[ 294,181
AlHI 63,039
Tl 63,039
KISAR AHIAS A (XISHL S HIRH) 2,008,382 2,008,382 0
[ 1,405,868
AlH] 301,257
T4l 301,257
307 elzto| & 2,008,382 2,008,382 0
= 1,405,868
Al 301,257
Tl 301,257
05 2IZtAE = 2,008,382 2,008,382 0
OXNSEe v 2,008,382,000& 2,008,382
= 1,405,868
Altl 301,257
Tl 301,257
KNSAR MEIAEIIAY 29 4,300 4,300 0
s 3,010
AlHI 645
Tl 645
201 =3 4,300 4,300 0
= 3,010
Altl 645
-l 645
01 AF22t2ltl 4,300 4,300 0
OXHA MHIAE XA 29
4,300,000 4,300
[ 3,010
AlH] 645
Tl 645
ZE2sSEHJUE =242 €5 AF 2,340,852 2,340,852 0
= 2,106,693
AltI 162,312
Tl 71,847
307 gl2to| & 2,340,852 2,340,852 0




FA dEF
M HASE TR TA
St AlRIAEIA - T A I (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 2,106,693
AltI 162,312
-l 71,847
05 git?(& = 2,340,852 2,340,852 0
OZ2zs8Ee #2342 E+5 N2 2,340,852
- EENSAE 3,600,000 3,600
= 3,240
Al 252
-l 108
-S| NMEAZE | 262,624,000 262,624
= 236,361
AltI 18,383
-l 7,880
SIS A 88,320,000 88,320
= 79,488
AltI 6,182
| 2,650
BT =B (XHA910/5)
1,573,853,000& 1,573,853
= 1,416,468
AlHI 110,170
el 47,215
HEUHL XS A (Rl =1
412,455,000& 412,455
= 371,136
Altl 27,325
el 13,994
LA SSMEIAALS 214,286 0 214,286
s 150,000
AlHI 32,143
el 32,143
307 212t01& 214,286 0 214,286
= 150,000
AlHI 32,143
-l 32,143
05 git?(& = 214,286 0 214,286
OZYESSAHIAAE 214,286,000 214,286
[ 150,000
AlHI 32,143
-l 32,143
HY2E U (M2 242,447 247,473 Ab,026
s 103,698
AlHI 25,924
el 112,825




A S
B WS HAH| (MEERD)
s Jl=dhl EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
JlE2al 82,340 9,327 A9,987
J|1E23&| 82,340 9,327 A9,987
201 LB-2AY| 24,152 25,469 1,317
01 AtR2telt] 24,152 25,469 AN1,317
ORN2Z+EH] 10,368,000 10,368
OJ|2HR+8 ZAlH| 12,442,000 12,442
OBIEH)| Yxiz
55,9002 x2CH* 12& 1,342
202 0idl 53,760 62,160 8,400
01 =WHOdbI 53,760 62,160 A8,400
OJ|12g2=¢ 0t
280,000 x32H +6H 53,760
203 YR =&IH| 4,428 4,698 A270
M MBI HRFA| 4,428 4,698 AN270
ORAN2ILRF&I
4,920,000 x90% 4,428
oIz 2g| 160, 107 155,146 4,961
oy 103,698
Altl 25,924
=t 30,485
2z AZIMNSRH) XA 160, 107 155, 146 4,961
= 103,698
Altl 25,924
sl 30,485
101 2124 d| 134,597 131,423 3,174
= 83,290
Altl 20,822
sl 30,485
03 SR (RIHL) 22X 134,597 131,423 3,174
OLlz30 &2l At 21248 (3Y) 134,597
l2g, Altels=2 &
104, 112,000& 104,112
= 83,290
Altl 20,822
- S| MHI(3H) 30,485
-HEZFOH|
2,304, 7003 *3H #23| x50% 6,915
-J|Z==g 2,304, 7003 *3E *43| x40% 11,063
-AXResIisE
116,900 *3Z 10 3,507
=4l 125,000 *3H 122 4,500
-uE| 125,000& x3H * 123 4,500
M HAFRE3S 25,510 23,723 1,787
= 20,408




2A:
PSER
o e

el

o 02 0x
Ju o nier

S&EW
=
=34l

02 02 07
0¥
=8
0z
o
HT
3

FFB - GI(EH) - NIRAY - A

HMEE
Ofl &k2h

AlHI

5,102

s
Al

=
Altl

25,510
25,510
17,342
13,874
3,468
8,168
6,534
1,634









